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Level 1

Six oranges fit into a medium box.

A small box holds > that many. A large
box holds double the number of oranges
of a medium box. I buy one small and
two large boxes. How many oranges
will I get?
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Level 2

I have 3 coins that total less than
50 cents. Two of the coins are
the same. What three coins
might I have?
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Level 3

Draw a line on a clock face so that
the numbers on both sides have
the same total.
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Level 4

987654321

Place addition signs between the digits
of the number 987654321 to create an

addition equation with an answer of 99
(the digits must remain in order).






